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Day 6

AGENDA
Objective:SWBAT	
  model	
  and	
  solve	
  real-­‐world	
  problems	
  
involving	
  exponential	
  and	
  logarithmic	
  relationships

Language	
  Objective:	
  SWBAT	
  answer	
  reDlection	
  questions	
  in	
  
writing	
  in	
  order	
  to	
  compare	
  the	
  graphs	
  of	
  exponential	
  and	
  
logarithmic	
  functions.

1)	
  Take	
  out	
  HW	
  to	
  be	
  checked/DO	
  NOW
2)	
  HW	
  Questions	
  
3)	
  Log	
  Apps

HW:	
  "Logs	
  worksheet	
  #6"	
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10 +2.32 = x
12.32 = x

4x = 10

log4(10) = x
1.66 = x

log3(x
2) = log3(4(x-1))

x2 = 4x - 4

x2- 4x + 4 = 0
(x-2)(x-2)=0
x= 2

600 = 350(1+.012)t

1.71 = (1.012)t

log1.012(1.71) = t
44.98= t ≈ 45 years



Logarithms Unit

4

Day 6

Suppose the number of lilies on a 
pond keeps doubling every week.  
It would take about 5000 lilies to 
cover a small pond and there are 2 
lilies on the pond on the first day. 
How many lilies will be on the 
pond in 9 weeks?

Suppose the number of lilies on 
a pond keeps doubling every 
week.  It would take about 5000 
lilies to cover a small pond and 
there are 2 lilies on the pond on 
the first day. How many days 
will it take before the entire 
pond is covered?
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Suppose the number of lilies on a 
pond keeps doubling every week.  
It would take about 5000 lilies to 
cover a small pond and there are 2 
lilies on the pond on the first day. 
How many lilies will be on the 
pond in 9 weeks?

Suppose the number of lilies on 
a pond keeps doubling every 
week.  It would take about 5000 
lilies to cover a small pond and 
there are 2 lilies on the pond on 
the first day. How many days 
will it take before the entire 
pond is covered?

A = 2(2)9

We are solving for the 
final Amount of lilies 
on the pond

A = 1024 lilies

5000= 2(2)t

We are solving for the 
number of days to 
reach 500 lilies

2500= (2)t

log2(2500) = t
11.29 = t ≈ 11 days
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Suppose that a small country 
has a population of 10 
million and an annual growth 
rate of 4.5%.  How long will 
it take before the population 
doubles?

A ball is dropped from a height of 
25 feet and rises up two-thirds of 
that distance after its first bounce.  
Each succeeding height is two-
thirds of the previous height.  How 
many bounces must occur in order 
for the ball to bounce less than one 
foot from the ground?
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The population of the United 
States was about 230 million in 
1984.  At an annual growth rate 
of 1.5%, how long, to the 
nearest tenth of a year, would it 
take for the population to grow 
300 million?

Assuming that the Native Americans 
really did sell Manhattan for the 
legendary $24, and further assuming that 
the sale took place exactly 388 years 
ago, how much money would the Native 
Americans now have if they had placed 
the money in a bank that paid 5% 
interest per year, compounded annually?  
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A particularly prolific 
microorganism has baffled all of 
modern science by dividing into 3 
every hour.  If there are 10 of 
these little bugs in a Petri dish at 
9:00 one morning, how many will 
there be by 5:00 pm?  

A particularly prolific 
microorganism has baffled all of 
modern science by dividing into 3 
every hour.  If there are 10 of 
these little bugs in a Petri dish at 
9:00 one morning, after how 
many hours will there be 100,000 
bacteria?
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HW:	
  "Logs	
  worksheet	
  #6"	
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.

HW:	
  "Logs	
  worksheet	
  #6"	
  continued...


